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Read the following passage and answer the questions which follow.
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QUESTIONS
Underlined 1: What does the underlined part mean? Choose the best answer,

(A) TForeign language courses should incorporate events from
other countries.

(B} It is difficult to incorporate other school subjects into
foreign language courses.

(C) Other school subjects should be taught in a foreign
language.

(D) There is no barrier to using those school subjects listed to

link language study with real world language use.

Blank 2: In order to fill in the blank in accordance with the logic of the whole

passage, find the best word in this paragraph and write that word.

Blank 3: Choose the best answer to fill in the blank in accordance with the

context.

(A) catastrophic
B

——
e

future

a

grammatical

&)

historical

=

subsequent
Underlined 4: Clarify the meanings of “this” and “him/her” in the underlined
part. Then, explain in detail why this burden might be

impossible. Write your answer in Japanese.
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Underlined b5:

Underlined 6:

Underlined 7:

Explain in Japanese what the underlined part means and give
one example of it in accordance with the author’s discussion in

the passage.
What does the underlined part mean? Choose the best answer.

(A) a knowledge of art

(B) a knowledge of experiments in physics and chemistry

(©) a knowledge of grammar and pronunciation

(D) a knowledge of historical events and geographical situations

(E) a knowledge of physical and social sciences

In accordance with the author’s logic, what is the inherent
problem with “the way he/she is required to learn the foreign
language” in the underlined part? Write your answer in

Japanese.

Blank 8: Choose the best answer to fill in the blank in accordance with the

context.

a controversial
an essential

an inappropriate
an indispensable

a simple

9. In terms of the use of translation, what is the difference between the two

approaches mentioned in the last paragraph? Explain the details of the

difference in Japanese.
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Read the following passage and answer the guestions which follow.
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QUESTIONS

1. Choose the best answer to fill in the following blank in accordance with

the passage.

In the Kurohime hills,

(A) badgers are the most commonly seen of all wild mammals

(B) by a small margin, tanuki are the wild mammals which are most often
seen

© déer are the most commonly seen of all wild mammals

O tanukz’. are by far the most often seen wild mammals

Underlined 2: What is the opposite of “domestic” here? Write your answer in

English.

Underlined 3: What is meant by “ones” here? Write your answer in English.
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4: In what season is the author most likely to be writing this passage? Write 7

your answer in English.

Underlined 5: Two possible reasons are given to explain why fenuki are so
often run over by cars on country roads. Complete the
following sentences to summarize those reasons by filling in

each blank with one appropriate English word.

(1) The animals are hit by cars because the motorists assume

that they are already.

(2) Tanuki cannot move enough to

escape from approaching cars.

Underlined 6: What one English word can be substituted for “pretty well”

here? Write your answer in English.

Underlined 7: The underlined part means “adding sake to the pot,” and doing
one other thing. Find one English word in the passage for this

other thing and write the word.

8: In your own English words, explain why the author has not eaten tenuki

again.
Underlined 9: Here the author suggests that “they do some damage to the

fields”. In the author’s opinion, which are more destructive,

tanuki or wild boars? Write your answer in English.
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Read the following passage and answer the questions which follow.
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QUESTIONS

According to the content of the passage, write T for True, F for False or
N for Not mentioned in the text for each statement. Answer a question with

“N” only if the statement is either not present in the text or cannot be inferred

from the information in the text.

1. The poem was written during the day.

2. The author spent an equal amount of time enjoying each of the lakes in
the Lake District.
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. The author’s imagination is stimulated more by Chinese lakes than by

English ones.

. Fishing boats could commonly be seen in the Lake District during the

winter.

. In the Lake District, the author felt completely separated from the rest of
the world.

. In China, people living in the mountains felt inferior to the people living at

the base of the mountain.
. There was snow covering the Lake District when the author visited.

. The author finds pleasure in nature.
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Read the following and write an essay in English in about 200 words.

The general purpose of new technology is to help people. However, in
some cases, technological advances have the opposite effect. Write an essay
that (1) explains two examples of technology that may hurt people, and (2) for
each example, discuss one possible measure you think should be taken to help

overcome these problems with technology.
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